Z A =
B 2 R ®E B 115
¥ H ZE Gt H ¥
% Bt i 4 WEdd TACHEET RO ET PN
Z Ft A SRS RGN R R MR R fE O R &Rt
Z it MW LD H DD a3 4 24 12H 1330
R e el o % it | i

U A AT R T KE R




L) A A AR I 5 LB S5 5

S

EEH 1 K

AT B KE R



Rt NOER &
wH L T AR Bl & % i =
W5
OL: Ik - AL
HETE W
1. 000
%0001 5 Bl
B B
1. 000
FLBERERE (W)
1. 000
ES CE M)
1. 000
BN A
1. 000
R
1. 000
IR - AT
1. 000




=n = =
AxX ﬁ+ N EIN 2%
#H L TfE FER HAAL B B p
#n LF M| % & W & % W om
Efis =
1. 000




[ - G i ]

%0001 5 WA Bithil &

il HikE B L i &
TEFERE GEARHIE) 0001 2 i T2
ESC S
. 000
4 R FEAE S A 000275 Jift T HAMFE
Alf_fl;
72 L
. 000
Bl & (S=1/200) $50003 215 T HAL 3
ESC S
E¥ & (fE) 0.035 km2
. 000
t
. 000
km
HSRIE 20m HifE7e L
. 150
B Maxi&E (EARH ) 0006 2 i T (T2
km
. 150
DR (RS AR ) 0007 2 i T2
km
. 150
FRMTHI  (BSRRH) &) 0008 2 i T (T2
km

HUSHE 20m &M 20 m HEIEREZ2 L

. 150




(B4 - G i ]

%0001 5 WA Bithil &

(B - HiI

[

1
s

A

=)

il

B

BT

%

il

il

&

HLES

Iee%

KA FRHTAEE L PRFAE 1 F Ak

RWIAANRHT S5 L

eSS

1. 000

5500095 fits T B 3%

& @




VESEFHE (REHRH ) %0001 B i THALRE

1.000 %575 eV
Gd i HLA7 H & HAf & 4 LI
I AT
A
S
A
T B Al
A
&3t eSS 1. 000
HALY Y R 1. 000 eV
4 A AL Y U %0002 & JiE THLffFR
RfRza L 35.000 % 49
d gD HLA7 H & H o Af & 4 LI
R
N




4 A AL Y R %0002 5 Ji THLfFR
RfRia L 35.000 A% =)
Gd P HLA7 & i & H LI
R
N
T B Al
N
& F
N
R
N
T B A
N
& F
N
Bk 2
%
Y ifi




4 e pUR %0002 B Jii THALE
k7 L 35,000 =)
£ Fr AL & il & %A i E:
BEERR
%
JZREE
%
i L By
%
&t
=X 1. 000
BANT24 Y J=y 1. 000 E)
ES 2 pa g % 12 ([
e A ke L




BIHI R (S=1/200) %0003 5 S LHHER
VE3E R (HFE) 0.035 km2 1.000 %% S
4 P BT = fiff & HH S
RS e T
N
ARSI
N
T Al
N
AR5
N
T Al
N
& F
N
T ok 2
%
WA ifi




il e (S=1/200) %0003 5 Ji THLffiFR

VEZ& (HFE) 0.035 km2 1.000 %% &)
4 Zi) AT W & Bl 4 KA fii =
A E R
%
JZREE
%
i L By
%
it
=X 1. 000
A4 Y E Sy 1. 000 E)
ES i 4 i ES 1 i
TN Bl & (S=1/200)
EEE (km2) VEZE & (fH) 0.035 km2




BIHnpsA (RS HRHI &) %0004 5 JiE THAffFR
1. 000 = =)
Gd P HLA7 & i & H LI
R
N
T B Al
N
Bk 2
%
MR
%
At
2V 1. 000
HALY Y = 1. 000 eV




DRI (RS R &) %0005 5 Jin THLffiFR
R FRE 20m dhig7e L 1.000 km eV
Gd i HLA7 & i & LI
T F i
N
T B Al
N
T
N
T B A
N
& F
N
PR ee
%
[ZESE

%




PO R GRS % 0005 B Jii THALRE
SRR 20m MR L 1. 000 km e
£ Zi) AL & il 4 KA i E:
i L B
%
&t
=X 1. 000
BAAT24 Y km 1. 000 E)
ES 1 pa i % 142 (i
HRAR S (Rl RIS HRAR 72 L
T R B HISFEME 20m
R BME (R E) %0006 B Jiti THALRE
1. 000 km =)
£ Ji) AT & il 4 KA T E:
MR
A
MRl ]
A
] Mmoo



B MaxiE (SR ) %0006 5 fiE THZR

1. 000 km 49
Gd P HLA7 H & HAf & H LI
& F
N
R
N
T B Al
N
& F
N
Bk 2
%
MR
%
g HE LA
%




B M & (ESHH &) %0006 5 Jin THLfiFR
1. 000 km 49
Gd i HLA7 & i & LI
At
X 1. 000
HALY Y km 1. 000 eV
HEWTHI &L (RS HRHI &) %0007 & JiE THLfFR
1. 000 km 49
d i HLA7 & i & LI
T F i
N
T A
N
& F
N
ST
N




HEWTHI &L (RS HRH] &) %0007 & JiE THLfFR
1. 000 km 49
Gd i HLA7 & i & LI
T B Al
N
& F
N
PR ee
%
[ZESE
%
i RE AR PR
%
At
2V 1. 000
HALY Y km 1. 000 E¥




R (RS ) %0008 B Jiti THALRE

B

HAERE  20m IR 20 m #REREZR L 1.000 km eV
Gd P HLA7 H & HAf & H LI
R
A
R
A
& F
A
R
A
R
N
& F
N
Bk 2
%




R (RS ) %0008 B Jiti THALRE
HSRRE 20m WM 20 m e L 1. 000 km e )
4 Zi) AT W & Bl 4 KA fii =
MR
%
i L B
%
it
=X 1. 000
A4 Y km 1. 000 E)
ES i 4 g % 1 i
HRAR S (Rl R HhAR S L
SRR HARRE 20m
REWTIRI & SR HEM 20 m
Hews %0009 B i THALRE
EBATFRHTAERE PRITAYE 1 E RS AR AEE B 1.000 %% =)
4 yi) AL W & Bl 4 KA fii =
B AR
A




e

HTAEFRHFTAWE L PRFTAE 1 H BCRART AR 1

% 0009

o TR

BRI B i e B BHE K D [1%
BILREEBIHT & ek o [ 4K

1.000 %% =)
4 r AT W & Bl & A W =
MRS
A
W = Rl Al
A
&t ES 1. 000
A4 Y ES 1. 000 E)
ES (G i % 1 i
ARBATIRHT B DA S FRHT A ¢ L
TSI EE DR HFIREFTAE 1 (A
RN D FT A A BRI AT A5 B

PAPREE B s R 1 (7]
BIFRIEREFT & ek 1 |




